
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 5-خ 

 4هـ+

 56= 9-ع 

 5ب =  2

 = ز  8ش + 

 =ز 8+ 16

 زهرة  24ز=

 = ص  6س + 

 

 6ص = س +

=10+6 

 سنة  16

https://hulul.online/


 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 35ب = ف +

 =267+35 

 متر  302=

 5-8-س=

 13-س=

 11+15ص=

 26ص=

 9÷81-ع=

 9-ص=

 4-38-ك = 6-

 42-ك= 6-

 7ك=

 9+5-ل =   2

 4ل = 2

 2ل=

 7+17ع= 3

 8ع = 

 54.12=13.2×4.1مساحة المستطيل= ل × ض=

 سنتمتر مربع 

 ض  2ل +   2محيط المستطيل = 

 سم  34.6=26.4+ 8.1=

 

https://hulul.online/


 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 ع، ث( ) ث  ع20 ع 

1 20×1 20 (1 ،20) 

2 20×2 40 (2 ،40) 

3 20×3 60 (3 ،60) 

4 20×4 80 (4 ،80) 
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